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0605 ERROUT2 | SV2 %4 H w5
0610 ATP 305 /5

HEAEL 0=ABiE, 1=FRT SV. AT, MAN LISMEE | L .
0611 KLOCK 2=Ih T SV BISMBE, 3=4 MBI B/




0701 PV B PV (1% i%/5

0702 PV F PV {H I8 % /5

4-6 ASCIT A5

b7b6b5 | 000 001 010 |[011 |100 |101 |110 | 111
b4b3b1 0 1 2 3 4 5 6 7
0000 0 NUL TC7 (DLE) | SP 0 @ p ' p
0001 1 TC1(SOH) | DC1 ! A Q a q
0010 2 TC2(STX) | DC2 " B R b r
0011 3 TC3 (ETX) | DC3 # C S c s
0100 4 TC4 (EOT) | DC4 $ D T d t
0101 5 TC5(ENQ) | TC8 (NAK) | % E U e u
0110 6 TC6 (ACK) | TCO(SYN) | & F vV f v
0111 7 BEL TC10 (ETB) |’ G W g W
1000 8 FEO(BS) | CAN ( H X h X
1001 9 FE1 (HT) | EM ) I y i y
1010 A FE2(LF) | SUB * J 7 j z
1011 B FE3(VT) | ESC + K [ k {
1100 C FE4 (FF) | 1S4 (FS) , L \ 1 |
1101 D FE5(CR) | IS3(GS) - M ] m }
1110 E SO 1S2 (RS) : N 3 n ~
1111 F SI IS1(US) / ? 0 B 0 DEL

4

4.7
10
15
20
40
50

70

80

90

100
110
420
430
440
450
460
470
480

7 BASICA T2

L WCERIATT, USSR, SR 4 R = AN A

STX$ = “@”: ETX$ = ”:” :CR$=CHR$ (13)

REM #JA%44 PC AL R B Kt 5 2 (b 75 ISR 1 e B AH )

REM {1/ PC COM1 I, %' 1200 JRF, (AL, 7 750, 1 15 147, BRRAET15 5
BPS$ = “1200” :ADR$="01" :REM 4B 4 28 FAY ¢ 0 iR Hb ik

OPEN “COM1:” + BPS$ + ”,E, 7,1,CD, RS, CS,DS” AS #1

CMD$="0100":REM READ PV
BC§ = ADR§ + CMD$ + ETX$
GOSUB 420

PRINT BCC$

STOP

BCC = ASC(LEFT$ (BC$, 1)): REM & /4%I%) BCC Bk i FLy
L = LEN(BC$)

FOR N =2 TO L

BCC = BCC XOR ASC(MID$ (BC$, N, 1))

NEXT N

BCC$ = HEX$ (BCC)

IF LEN(BCC$) = 1 THEN BCC$ = “0” + BCC$:REM 4Nl 45 5y Bpgeis, S5 hn”0”




490 RETURN

4.7, 1 AR FE I E

1-29 & 1
. - LOC:HLP st
| EIR/HLA TR | OMLIN, mBGER CoM F5R4 K.
| ! | O AL B4, Bl in s st (cow)
| comt oMM | AUAEZER LML A4 AT S
| | | coM: - rhLm s
| Loc | LOCAL | Ok, HBGHER COM kT 5%
' : | OfXAg TR B B B R A4, B LoC HLA T R
4.7. 2 AL
1
I 1
| WishkiEin e |

|

I 1
| wEaLIrt |
| |
L I

1

I I
I I
I I
I I
I I
I I
I I S BCC il |
I I I
I I | I
I | ] A HR I
I || ki@ T | I
I | ' | I I
I I | t No I I
I I / \ / \ | I
[ / \ / \ I
I I /s O\ No o ] / RA= N\ I I
| | ¢ e ) —-— | R4 |- | V& ) | |
[ \ me ' ! N2/ [
I I \ / \ / | I
I I \/ \/ | I
| | | Yes | Yes | |
I | | . ] I
I | | BRI | | ST ED | I
I | | #HHBCcCH | : b I
I | ' | I
I I | | I
I I / \ / \ | I
I I / \ / \ | I
| | / BCC K%\ No / RE= No | |
I I (  IEfME? ) «  w’E ) — |
I I \ / N2/ |
I I \ / \ / |
I I I

N/ \ /



I Yes | Yes

|

| [ ]

|| JTER TR | | HEEATER |
| (K124 | ' '
|

|

|

4
|

I |

4. 7.3 RS485 il N [ F1 BASIC R/ vk
1. RS485 it & &

[ 1
| AL | 485 W |
| 485 |
| RO |
L |

I |
| K1 /B ) Hd s A

| . ]
|

—

| SR80-(1) | | SR8O-(2) |. . | SR80-(32) | |
L 1 L 1 | I |

RS485 18 THR FH 22 B IR PR £ ik, P Z 201 X ) Bl i 2 PR il o AL

FR LA 1 P B2 02 (1) 8200 =y (RDA) FIAEG (RSD) 28 DA K P 38 R 326 3 1) R 3% 1
(SDA) FMIG (SDB) £k AREEAE B A 2k b, 1IN P A ik B R R IR 2 Ak 1 i BHLOC AT
R BRI RS S E R, R PR YRR, RS R, . W
AT, 2 B IR IPERGERNE (R 45) FIATFRX 4y . R, AO%E 5 7k K
L TR . RIETERG, ROBL T EHk G B s OGS Haloy fEFfci
W TERE, MR K% Ty, AN 5 s Tl

TR, A7 AL0A Z5TRR 4 R 2% B Al bk, SRR 205 i BaR at, Bl 2l
WL, RO, A7 AT SRR &, Bl A a% SR IR S
A REHEAT IR (118 W
2. RS485 X Jr) Hir et o 2 e e fuli 1 7 i 1)

1

| T | + HR |
I | K EERSTMA) | —— I
I I | | \O . [ ) I
I I | |\ I I
I | Bodhs 43% TXD (2) | - |k ) | 485 Xt gk |
I I | |/ I I
I | pPc-2324%11 | | / — o I
I

| P e i | I |



| | /| | I
| | /. O——F— I
| Fedls e RSD(3) | ——— ( % | | I
| | A |
| | \ | I
| | I
232/485 B Al {7~ 72 I |

RS485 452 1 BLRAE Sk i 56 i, SrRIOCHIA,  45 WITCVE B & e a4 (138 . 1T A7
TG XU I B o S e e b 5 R RO B g 1B i i), 8 S LR T8 TR AR AR () v,
AR PR 7@ UART [RRIE T A8 MM fr 4 @ se MBI e Bk 5, Sk
W RALE 58 1, LAE KN OGP 2%

AT AL RS232/485 %4 M 330 5 S A I 232 1K) RST i SR K3k A5 5 (AL B A/ B A S,
M ok K3 Bl R 2 K s i) #E BASTIC 25 OPEN “COM 1, 1200, E, 7, 1,CD, RS, CS,DS” AS
#1 A5, VIdAM PC HLAIE R, RST 55 B, IR IR IKS) A A i P H o Ak £ ds
i, “OUT (&H3FC) , &HOB” [ 4>, 148 UART 8250 %y (1) RST {55 ' e, 2 AR I IR 5 2 A% 1 i B
By RIRHEE E U, Hit 7 OUT (QH3FC) , &HO9” ir4, X#F RST {5 5 B%, KiLIKShHeik 5 %
e LT H o

IR, ATAEACERI RS4A85 A i A IV T 11, MR 4k VI, 1 2 B o £ P A e
& 6

Ak RS485 B L AR, AR FIHTAE 5020 % RS232/RS485 % il THIE Hfbi b,
i RIS T 75 % he R e U 4 1) i) R

5. M=%

A LTETER D v
YRS-232C il il L n &

I
| Bdi i SD 2}

[

| RD I
| ik RD 3| | sD |
| 185k A i RTS 4 F—~ | SR80 %41 |
| R A i% CTS 5 p~- | RS-232C |
| BoH e 4 HEH DSR 6 | |
I wgmall Ch 8 b~ | |
| B £ i 4 DTR20 |—- | |
| f55H 7| | SG |
L | | |
P CHL 25 %I RS-232C A 9 B RS232 (it 15 WL FH A W 13)

YPC Ml RS-232C 11 25 415 9 444k pf 6

T T | T T T | T T 1
9PIN | 1 |2 |3 |4 |5 |6 |7 |8 |9 |
| | | |
T T 1 T




| 25PIN] 8 | 3 | 2 | 20 7 |6 | 4 |5 | 22
L | | | | | | | | | |
[ 1 [ 1
| 13 1] | —5 1 |
| OOO000000000O | | | | oocooo | | |
I | | O] |O| |
| oooooooo000O0 | | | | ocooo | | |
| 25 4 |1 | — 9 6 — |
L | L |
25 FI gk I FJUEHHEE ey ek 1

B. RS232 & K HH AR E

If55 - F:  EIA RS-232C P (£12V)

25BIR T RS232C 3 4T

B RS IR 7 IR, PR

AJEIEE S . RS232C 15 K

SOEIAGEE: 1200, 2400, 4800, 9600, 19200 J4EZ

6.5k 8 b

WA B T AL, MR, MR AL

TR ALY K S e U )

8.1 v AL -
IEFHS:
JUSCE SRR

LAE 5 P
2.8 75
3.0 R4k
40 HERES
5.3 THIE S -
6.4 %

TR P -

8.1 v AL :
IEFHS:
1035550

ASCII

A
RS-232C 1 &

C. RS422/RS485 il i I (K A B

ETA RS422A/485 Hi°F- 5V %3

RS422A 4 £R2FXUT (21#%) /RS485 2 2k T (£ %)
E UG5 AL R, S0 8 T

1200 >k

1200, 2400, 4800, 9600, 19200 Y4

8 .

R T AL, — MBI, — MR
Sl GO T)

ASCIT

AALEH

RS-422/485 32 & 1.5 2 H (BLsGHEE RS232/422 B I ¥ #2%)

6. C EE AP (X3 %)

#include<stdio. h>
#include<stdlib. h>
#include<conio. h>
#include<bios. h>

#include<{string. h>

#define CH1_PA 0x3f8

void transmitter();

int receiver();

void main()



int length, i, h, j, m, number, flag, k;
char receive[100], comm[3], ccc[4];
char ch;
char send[]="D1”; /%K ikfn4*/
printf (“please input number:”);
scanf ("%d”, &k) ;
outportb (CH1 PA+4,0) ;/*disable interrupt, RTS, DTR*/
outportb (CH1 PA+1,0) ;/*disable interrupt enable registersk/
bioscom (0, 0xfa, 1) ; /%9600, 7, e, 1/
clrser();
gotoxy (26, 1) ;
printf ("SHIMADEN CONTROLLER”) ;
gotoxy (10, 2) ;printf ("No”) ;
gotoxy (16, 2) ;printf ("SV”) ;
gotoxy (22, 2) ;printf ("PV”) ;
gotoxy (28, 2) ;printf ("OP”) ;
gotoxy (35, 2) ;printf ("ALML") ;
gotoxy (43, 2) ;printf ("ALM2") ;
gotoxy (50, 2) ;printf ("LBA”) ;
gotoxy (58, 2) ;printf ("ST”) ;
gotoxy (64, 2) ;printf ("A/M”) ;
while (1kbhit ()
{
for (number=0; number<k; number++) {
h=number+1;
gotoxy (10, 3+number) ;printf ("%d”, h) ;
itoa(h, comm, 10) ;
if (h<10) {send[1]=" 0" ;send[2]=comm[0] ;}
else {send[1]=comm[0];send[2]=comm[1];}
length=strlen(send) ;
for (m=0;m<3;m++) /% Retry */
{
transmitter (send, CHl PA, length) ;
i=receiver (receive, CH1 PA):
if (i!=0) break;
}
if (i==0)
{ printf("Timeout\n”) ;}
else{ gotoxy(15, 3+number) ;
for (j=5; j<9; j+t)
printf ("%c”, receiveljl);
gotoxy (21, 3+number) ;
for (j=10; j<14; j++)
printf ("%c”, receivel[jl);
gotoxy (27, 3+number) ;
for (j=15; j<19; j++)



printf ("%c”, receivelj]);
for (j=21; j<24; j++) ccclj—21]=receivelj];
flag=atoi (ccc) ;
gotoxy (35, 3+number) ;
if (flagk0x01) {printf("SAFE”);}
else printf ("ACT1”);
gotoxy (43, 3+number) ;
if (flagk0x02) {printf("SAFE”);}
else printf ("ACT1”);
gotoxy (50, 3+number) ;
if (flag&0x100) {printf ("SAFE”) ;}
else printf ("ACT1”);
gotoxy (57, 3+number) ;
if (flagk0x04) {printf("ENAB”);}
else printf ("DISA”);
gotoxy (64, 3+number) ;
if (flagk0x20) {printf("MANU");}
else printf ("AUTO”) ;
}
}
}

/*Transmitter Function*/
void transmitter (char *send, int BASE ADD, int len)
{
int j;
outportb (BASE ADD+4, 0x02) ; /*enable RTS, enable send*/
for (j=0; j<len; j++)
{outportb (BASE ADD, send[j]); /*send a bytex/
/*check if transmiting shift register is empty*/
while ((inportb (BASE ADD+5)&0x40)==0) ;
}

return;

}

/* Receiver Function, success return the number of received byte,
failure return 0 */
int receiver (char *rec, int BASE ADD)
{int i=0;
long j=0;
outportb (BASE ADD+4, 0) ; /*disable RTS, enable receive%*/
while ((inportb (BASE ADD+5)&0x01) !=1) /* receive data available? */
{j++;if(j>20000) return(0):}
rec[0]=inportb (BASE ADD) ;/*receive datak/
do
{while ((inportb (BASE ADD+5)&1) !=1) /*receive data available?#*/



{j++;if(j>20000) return(0):}
rec[i]=inportb (BASE ADD) ;/#receive data%/
i+t

Jwhile (rec[i-1]!=0x2a) ;

return(i) ;

}



